1)

1.4b The Limit of a Function (Con’t)
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Example 1.4b.1

Determine Iim(f (x)) for y 7;777
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Example 1.4b.2
Sketch the graph of a function f (x) with the following properties:

1) lim(f(x))=-1

x—0"

2) ILT(f(x)):+1 L

3) 1(0)
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5) f(2)=3
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4) lim(f
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Class/Homework for Section 1.4b
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1. Simplify the Difference Quotients:
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2. Determine, and simplify, an expression describing the slope of a secant through the given
points:

b. A(LfQ)), B(1+h, f(1+h)), wheref (x)=2x"-1

c. R(0.2), S(hVh+4)

&7) M- M _ (2(“‘")3'{)*<2(r)3—1)

I

. z(ugwa{u\ﬁ)f! )
n
G 3Gl 217 ) orGhor2 V)
‘”1 - /K< h

75

= Grbh rye



= f( a:»-w hat o rala ?/ 44)
x> ,E W, (s 0 |
B Yy o

W\S(L A m L

- hré - 4 %
\r\(\rb@w ?/) )/\Cm w)




